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00 | _ 1,60 |301,89(303,49
o
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201 | = 1,64 |301,81|303,45 Przylqeze N34
3
= 1,60 |301,83(303,43
teletechnika
s10 | = 1,60 |301,34(302,94| hydrant nadziemny
596 | — 1,58 |301,16|302,74|  przylgeze N35
84.3 302,19| przylgcze N36
=
S 1,53 |300,65(302,18
1,60 |300,53|302,13
o
~l
N
1046 _ 1,58 |300,44|302,00| Prevlacze N37
193] — 156 |30034|30190| 2Zmiana kierunku trasy kqt 90°
1269 — 155 |300,28|301,83] Zmiana kierunku trasy kqt 90 /
1414 _ 153 |300418301,71| Przvlacze N4Ga, 46b
1453 = 1,52 |300416(301,68] Przylacze N33 ] |
1497 = 1,52 |300,13|301,65| Przylqeze budynek dz. 255/3 I I
1583 _ 1,51 |300,06|301,57| Przylqeze N43 / /
1661 — 1,50 |300,01| 301,51| ©odgalezienie 63PE I
ESS
301,42
1847| _ 1,50 |299,89/301,39|  przyiqeze N4Sa
195.4| = 1,54 [299,82]301,36] przylgcze N46
1975 ™
S 155 [299,80(301,35| przylqcze N45
2080 = S 1,59 |299,73|301,32| hydrant nadziemny
e 1,60 [299,71] 301,31
N
2187 = 161 |299,67|301,28| przylgcze N47
ccU.B
= 301,27 Praylqeze N48
2377 = 161 |299,57|301,18| przylgcze NSO
2458 = 160 |299,53|301,13| przylqcze N5
2630 = | 1,50 [299,43|301,02] przylgeze N52
eotd = S zmiana Kierunku_trasy kgt 90" ,
& = [1,59 [299,42[ 307,01
2717 = g 1,58 |299,39/300,97| zmiana kierunku trasy kqt 990°
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282l = . 157 |299,33|300,90| przylqcze N53b
cg84.0] ™~ 1
S & [757 [D9.32[30089 przylgcze N53
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2959 = = | 1,56 |299.26|300,82| przylqcze N54
298.9 % . [1.55 [299,25]300,80] _przylqcze NS5 |
3
s 300,74
LS = e 28818130073 R
3153 = | 155 [299.16]300,71| Przyfgcze
75| = @ [1,56 [299,15[300,/T _przviacze N5/
~ I przylqgcze NS7a
(o]
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3328 = & | 1.58 |299,08|300,66| Pprzylgcze NS8, 60
gl E
o 1,60 |299,03|300,63
3429 = [ 1,60 [299,02[300,62] przylgcze N59
N
360.0| S 1,64 [298,92]300,56| przylgcze N61
3623 1,65 [298,90{300,55 ydrant nadziemny
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3664 — 1,66 |298,87|300,53| przyiqeze N62
3781 = 169 |29881|300,50 przylgcze N63a
300,47
3889 = 170 |298,75(300,45| przylqcze N63
3980 = 1,70 |298,69/300,39| przylqgcze NG5
4080 = 1,70 [298,63|300,33| przylgcze N64
4227 = 1,70 [298,55|300,25| przylgcze N66
4584 = 1,70 [298,33|300,03| przylgcze N66a
300,00
4768 = 1,69 [298,22|1299,91| przyigcze N67
4953 = 1,67 |298,11]299,78|  przylgcze N68a
S06.4| = 166 |298,05299,71| przylqcze N68
5126 — 165 |298,02|299,67| hydrant nadziemny
=
5291 = 1,63 [297,92|299,55|  przylgcze N69a
5333 = 1,62 [297,90|299,52|  przylgcze N69
299,44
5600| = o 160 |297,74(299,34| przylqcze N71, 72
5629 = > 1,60 [297,72[299,32| przylacze N70
5659 = © 1,60 [297,72[299,32




